RESPOSTAS

QUESTAO 1
a) dom(f)=R
b) dom(f) =R —{-2}

dom(h) = R—{-2,2}

d) dom(p) ={x€ R;x=>1}

e) dom(q) ={x €eER;x>—-1}

f) dom(r)={x € R;x > —1}

g) dom(s) =R

h) dom(t) =R — {— ;}

i) dom(u) ={x€R;x # 3}
QUESTAO 2

e)
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Questao 3

Dom(f) ={xeR; x =2} e Im(f)={yeR;y =1}

Questao 4
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QUESTAO 5

a) f(x)=x?2-2x-1
b) f(x)=x%—4x+3
) f(x)=x?>—4x+5
d f(x)=x*>+4x+5

Questao 6

a) (feg)(x)=x-9, dom(feg)=R
(8o f)(x) =Vx?—9,dom((go f) ={x € R;x =3}

b) (f°9)(x)=W1x_15,dom(fog)={xelR{;x¢3ex¢—5}

(g°f)(x) == +2—15,dom(g o f) = {x # 0}

) (feg)() =In(x>—1),dom(feg)={x€Rx>1}
(g°f)(x) =3In(x) - 1,dom(g e f) = {x € R;x > 0}

QUESTAO 7

a) (fog)(x)=4x*—4x-8
(gof)(x)=2x?+8x—13




b)

(feg)2)=0
(gef)(2)=11

c) x=3ex=-2
QUESTAO 8
a) domfog={xeR, x<—-1lex >4}

b)

dom(gef)={x € R;x = 0}

domfog={xeR;xS%ex22}
dom(goef)={x€eR;x =1}

QUESTAO 9
a) dom(f) ={x e R;x # 2}
dom(g) =R
b) (fog)(x) =2

<)

2x+1

1
dom(f o g) :{xER;xi _E}

5x—4

(9o NG =2
dom(f og)={x € R;x # 2}

QUESTAO 10

QUESTAO 11
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ge(foh)



QUESTAO 12

a) f(x)=Inx), gx) =x>+x—2edom(h)={x e R;x # 3ex # —5}
b) f(x) =Inx,g(x) = 1+ sen’xedom(h) ={x € R;x # 3?71 + km}

¢ f(x)=+vx,g(x)=x*—1edom(h) ={x € R;x # 1}

d) f(x)zi,g(x)zx2+xed0m(h)={xE]R;x¢Ooux¢—1}

e) f(x)=e*g(x)=x+cos(x)edom(h) =R

f) f(x)=cos(x),gx) =x+e*edom(h) =R

g) f(x)=1-x,9(x) = cos?(x) edom(h) =R

h) f(x) =sen(x),g(x) = x> edom(h) = R

QUESTAO 13

x% 42

gx) =

QUESTAO 14

x?>—2x—4
gx) =——F—

QUESTAO 15

QUESTAO 16

a) In5

b) In(x — 3)
c) 2Int

d 0

e) In(2x+1)
f) In(t—1)

QUESTAO 17

2x+4

a) y=e
b) y=e>* +40
c) y=2xe*+1



d) y=sen(x)+1



